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1. A database is a process of gathering,
representing and storage of information :

(A) Information selectivity

(B) Information processing

(C) Information representation

(D) Information retrieval

2. Surveys of users are most useful in :

(A) Special libraries

(B) Public libraries

(C) Academic and special libraries

(D) University libraries

3. Which of the following service is designated
to identify the most suitable documents to a
specific user ?

(A) Internet Link Service

(B) Document Delivery Service

(C) SDI

(D) CAS

4. Initiation of the reader means :

(A) Orientation

(B) Knowledge

(C) Beginning

(D) Understanding

5. A sequence of actions which results in
obtaining required information is called :

(A) Retrieval system

(B) Retrieval code

(C) Retrieval program

(D) Retrieval device

1. lwpuk dk izfrfuf/kRo djus vkSj Hk.Mkj.k djus dh
izfØ;k ,d MsVk csl gSa @ gS %

(A) lwpuk p;ukRedrk

(B) lwpuk izlaLdj.k

(C) lwpuk izfrfuf/kRo

(D) lwpuk iquizkZfIr

2. mi;ksDrkvksa ds losZ{k.k buesa ls lcls vf/kd
mi;ksxh gS %

(A) fo'ks"k iqLrdky;

(B) lkoZtfud iqLrdky;

(C) 'kS{kf.kd ,oa fo'ks"k iqLrdky;

(D) fo'ofo|ky; iqLrdky;

3. fuEufyf[kr esa ls dkSu&lh lsok ,d fof'k"V mi;ksxdrkZ
ds fy, lcls mi;qDr izys[k dh igpku djus ds
fy, gS \

(A) b.VjusV fyaad lsok

(B) izys[k forj.k lsok

(C) ,l-Mh-vkbZ-

(D) lh-,-,l-

4. ikBd dh nh{kk dk vFkZ gS %

(A) mUeq[khdj.k

(B) Kku

(C) 'kq:vkr

(D) le>

5. fØ;kvksa dk Øe ftlds ifj.kkeLo:i vko';drkvksa
dh lwpuk izkIr gksrh gS] ftls dgk tkrk gS %

(A) iquizkZfIr iz.kkyh

(B) iquizkZfIr dksM

(C) iquizkZfIr izksxzke

(D) iquizkZfIr fMokbl

[P.T.O.]

PAPER : VII (Information Users, Systems and Services) [BL-107N]
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6. Which is not a anticipatory service in
reference section ?

(A) Ready Reference Service

(B) Newspaper Clipping Service

(C) Indexing Service

(D) Abstracting Service
7. Who termed personal assistant to user as

humanism in practice ?

(A) Ranganathan

(B) Dewey

(C) Foskett

(D) Katz

8. Which is not a function of reference
section ?

(A) Reference desk

(B) Long range reference service

(C) User education programmes

(D) None of the above

9. Personal Bibliography is a :

(A) Author index

(B) Author Bibliography

(C) Title Bibliography

(D) List of writings by and on a person

10. J.D. Brawn is the founder of the Journal :

(A) The Library Science World

(B) The Library World

(C) The Library Miscellany

(D) None of these

6. buesa ls tks lUnHkZ lsok esa ,d vfxze lsok ugha
gS %

(A) Rofjr lUnHkZ lsok

(B) lekpkj i= drju lsok

(C) vuqØef.kdk lsok

(D) lkj lsok
7. ftUgksaus mi;ksxdrkZ dks O;fDrxr lgk;rk dks

O;ogkj esa ekuorkokn djkj fn;k %

(A) jaxukFku

(B) Msoh

(C) QksLdsV

(D) dkV~t

8. buesa ls tks lUnHkZ lsok dk dk;Z ugha gS \

(A) lUnHkZ MsLd

(B) nh?kZdkyhu lUnHkZ lsok

(C) miHkksDrk f'k{kk dk;ZØe

(D) mijksDr esa ls dksbZ ugha

9. O;fDrxr xzUFklwph gS %

(A) ys[kd bUMsDl

(B) ys[kd xzUFklwph

(C) vk[;k xzUFklwph

(D) O;fDr }kjk ml ij fy[ks x, ys[kksa dh lwph

10. ts-Mh- czkmu fdl tuZy ds laLFkkid gS \

(A) ykbczzsjh lkbal oYMZ

(B) ykbczsjh oYMZ

(C) ykbczsjh felysuh

(D) buesa ls dksbZ ugha
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11. National Index of Translation was published
previously by :

(A) NASS OC

(B) National Library

(C) INSDOC

(D) JNU
12. The First Commercial Online Information

System is :

(A) DIALOG

(B) ORBIT

(C) OCLC

(D) BLAISE

13. What is first and foremost step in literature
search ?

(A) Selection of source

(B) Consultancy

(C) Discuss

(D) Selection of secondary source

14. Possible reference source for meaning of
words / phrases :

(A) Language dictionaries

(B) Bibliographies

(C) INDEXS

(D) Abstracts

15. Language reference service may take :

(A) Several minutes

(B) Several hours

(C) Several days

(D) All of the above

11. vuqokn dk jk"Vªh; lwpdkad igys izdkf'kr fd;k
x;k Fkk %

(A) uklMkWd }kjk

(B) jk"Vªh; iqLrdky; }kjk

(C) bUlMkWd }kjk

(D) ts-,u-;w- }kjk
12. izFke O;kikfjd vkWuykbu flLVe fdlus izkjEHk

fd;k \

(A) Mk;ykx

(B) vkjfcV

(C) vks-lh-,y-lh-

(D) Cyst

13. lkfgR; [kkst dk lcls igyk vkSj egRoiw.kZ pj.k
dkSu&lk gS \

(A) lzksr dk p;u

(B) ijke'kZ

(C) ppkZ

(D) f}rh;d lzksr dk p;u

14. 'kCn@okD;ka'kksa ds vFkZ ds fy, laHkkfor lanHkZ
lzksr %

(A) Hkk"kk 'kCndks'k

(B) lUnHkZ lwfp;k¡

(C) vuqØef.kdk

(D) lkj

15. Hkk"kk lUnHkZ lsok esa fdruk le; yx ldrk gS \

(A) dbZ feuV

(B) dbZ ?k.Vs

(C) dbZ fnu

(D) mijksDr lHkh
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16. The subject Index of science citation index
is :
(A) Citation Index
(B) Permutation Subject Index
(C) Source Index
(D) Expert Index

17. Which of the following statement is
correct ?
(A) SDI is one from of CAS
(B) CAS is one from of SDI
(C) The two serviceS are the same
(D) There is no relation

18. Recent trend in wind energy is an example
of :
(A) Statement of the annual report
(B) Trend report
(C) Technical digest
(D) None of the above

19. Index is derived from Latin word :

(A) Indices

(B) Indicare

(C) Indicate

(D) Indic
20. Citation Indexing was first developed in the

field of  :

(A) Science

(B) Social Science

(C) Law

(D) Literature
21. Indian Science Abstract is published by :

(A) NISSAT

(B) IASLIC

(C) ASLIB

(D) INSDOC
22. The headquarter of INIS is situated at :

(A) Vienna, Austria

(B) Delft, Belgium

(C) NewYork, U.S.

(D) London, U.K.

16. foKku m)j.k lwpdkad dk fo"k; lwpdkad gS %

(A) m)j.k lwpdkad

(B) Øep; fo"k; lwpdkad

(C) lzksr lwpdkad

(D) fo'ks"kK lwpdkad
17. fuEufyf[kr esa ls dkSu&lk dFku lR; gS \

(A) ,l-Mh-vkbZ- lh-,-,l- dk ,d :i gS

(B) lh-,-,l- ,l-Mh-vkbZ- dk ,d :i gS

(C) nksuksa lsok ,d lkeku gS

(D) nksuksa esa dksbZ lEcU/k ugha gS
18. foUM ,uthZ esa fjlsaV VªsaM ,d mnkgj.k gS %

(A) okf"kZd fjiksVZ ds fooj.k dk

(B) VsªaM fjiksVZ dk

(C) rduhdh MkbtsLV dk

(D) mijksDr esa ls dksbZ ugha
19. baMsDl fdl ySfVu 'kCn ls fy;k x;k gS \

(A) bafMlsl
(B) bafMds;j
(C) bafMdsV
(D) bafMd

20. m)j.k baMsfDalx loZizFke fodflr fd;k x;k Fkk -
------ ds {ks= esaA
(A) foKku
(B) lkekftd foKku
(C) fof/k
(D) lkfgR;

21. bf.M;u lkbal ,cLVsªDV dk izdk'kd dkSu gS \
(A) fulkr
(B) vk;lfyd
(C) ,lfyc
(D) bUlMkWd

22. bful dk eq[;ky; dgk¡ fLFkr gS \

(A) fo;uk] vkWfLVª;k

(B) MsYQV] csfYt;e

(C) U;w;kWdZ] ;w-,l-

(D) yanu] ;w-ds-
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23. INIS is a  ____information system.

(A) Subject oriented

(B) Topic oriented

(C) Research oriented

(D) Mission oriented

24. AGRIS situated at :

(A) Delft

(B) Rome

(C) Vienna

(D) London

25. “Patent Watch Service” is provided by :

(A) NASSDOC

(B) INSDOC

(C) DESIDOC

(D) ASLIB

26. OCLC stands for :

(A) Online Computer Library Centre

(B) Online Computer Literacy Centre

(C) Ohio Computer Library Centre

(D) Open Communication for Library
Community

27. ENVIS stands for :

(A) Environmental Institutional Society

(B) Environmental and Industrial Society

(C) Environmental Information Services

(D) Environmental Information System

23. bful fdl izdkj dh lwpuk iz.kkyh gS \

(A) fo"k; mUeq[khdj.k

(B) vk[;k mUeq[khdj.k

(C) 'kks/k mUeq[khdj.k

(D) fe'ku mUeq[khdj.k

24. ,fxzl dk eq[;ky; dgk¡ fLFkr gS \

(A) MsYQV

(B) jkse

(C) fo;uk

(D) yanu

25. ßisVsaV okWp lsokÞ dkSu iznku djrk gS \

(A) uklMkWd

(B) bUlMkWd

(C) MslhMkWd

(D) ,lfyc

26. vks-lh-,y-lh- dk eryc gS %

(A) vkWuykbu dEI;wVj ykbczsjh lsUVj

(B) vkWuykbu dEI;wVj fyVjslh lsUVj

(C) vksfg;ks dEI;wVj ykbczsjh lsUVj

(D) iqLrdky; leqnk; ds fy, [kqyk lapkj

27. bufol dk eryc gS %

(A) i;kZoj.k laLFkk lekt

(B) i;kZoj.k ,oa vkS|ksfxd lekt

(C) i;kZoj.k lwpuk lsok

(D) i;kZoj.k lwpuk iz.kkyh
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28. The word Reprography was first used in :

(A) 1959

(B) 1954

(C) 1955

(D) 1958

29. Indian scientific translator association is
associated with :

(A) BARC

(B) NISCAIR

(C) DRTC

(D) National Library

30. CAS was introduced in the year :

(A) 1940

(B) 1959

(C) 1945

(D) 1950

31. Indexing and Abstracting Services comes
under :

(A) Anticipatory Service

(B) Responsive Service

(C) CAS

(D) SDI

32. The main objectives of Trend Report is :

(A) Fulfill the subject requirement of specific
reader

(B) Fulfill the subject requirement of general
reader

(C) Providing the readymade information on
various subject

(D) Promoting general information

28. jsizksxzkfQd 'kCn dk loZizFke iz;ksx dc gqvk \

(A) 1959

(B) 1954

(C) 1955

(D) 1958

29. Hkkjrh; oSKkfud vuqoknd la?k dk laca/k fdlls
gS \

(A) ckdZ

(B) fuLdSj

(C) Mh-vkj-Vh-lh-

(D) jk"Vªh; iqLrdky;

30. lkef;d tkx:drk lsok ¼lh-,-,l-½ dks fdl o"kZ
vkjEHk fd;k x;k \

(A) 1940

(B) 1959

(C) 1945

(D) 1950

31. vuqØe.khdj.k ,oa lkjka'khdj.k lsok fdl lsok ds
vUrxZr vkrh gS %

(A) izR;kf'kr lsok

(B) izR;qÙkjkRed lsok

(C) lkef;d tkx:drk lsok

(D) p;fur lwpuk izlkj lsok

32. VsªaM fjiksVZ dk eq[; mís'; D;k gS \

(A) fof'k"V ikBd dh fo"ke vko';drk dks iwjk
djs

(B) lkekU; ikBd dh fo"k; vko';drk dks iwjk
djuk

(C) fofHkUu fo"k;ksa ij miyC/k tkudkjh iznku
djuk

(D) lkekU; lwpuk dks c<+kok nsuk
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33. Cover to cover translation is treated as :

(A) SDI

(B) CAS

(C) On demand services

(D) Anticipatory services

34. What is National Bibliography ?

(A) List of books of National Library

(B) List of books Published in a Particular
Nation

(C) List of books written by National
Government

(D) List of books on a Nation

35. Which service demands the creation of a
user profile ?

(A) CAS

(B) Information retrieval

(C) SDI

(D) Reference service

36. NISSAT is established in the year :

(A) 1972

(B) 1971

(C) 1970

(D) 1977

33. doj Vq doj vuqokn -----gSA

(A) p;fur lwpuk izlkj lsok

(B) lkef;d tkx:drk lsok

(C) lsokvksa dh ekax ij

(D) izR;kf'kr lsok

34. jk"Vªh; xzUFklwph D;k gS \

(A) jk"Vªh; iqLrdky; dh xzUFkksa dh lwph

(B) ,d fo'ks"k jk"Vª esa izdkf'kr xzUFkksa dh lwph

(C) jk"Vªh; ljdkj }kjk fyf[kr xzUFkksa dh lwph

(D) ,d jk"Vª ij iqLrdksa dh lwph

35. dkSu&lh lsok mi;ksDrk ikf'oZdk cukus dh ekax
djrh gS \

(A) lh-,-,l-

(B) lwpuk iquizkZfIr

(C) ,l-Mh-vkbZ-

(D) lUnHkZ lsok

36. fulkr dh LFkkiuk fdl o"kZ dh xbZ \

(A) 1972

(B) 1971

(C) 1970

(D) 1977
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37. Literature Search is essentially a
process of :

(A) Information Bureau

(B) Information Retrieval

(C) Ready Reference Service

(D) Current Awareness Service

38. The author of Systematic Indexing is :

(A) J. Kaiser

(B) Warwick Sawyer

(C) S.R. Ranganathan

(D) J.E.L. Farradane

39. Delphy method is used for :

(A) Planning

(B) Budgeting

(C) Forecasting

(D) Evaluation

40. Information is :

(A) Raw data

(B) Input data

(C) Processed data

(D) Unorganised data

41. Systematic Indexing was developed by :

(A) E.J. Coats

(B) H.P. Luhn

(C) J.E.L. Farradane

(D) Derek Austin

37. lkfgR; [kkst vfuok;Z :i ls ,d izfØ;k gS %

(A) lwpuk C;wjks dh

(B) lwpuk iqu% izkfIr dh

(C) Rofjr lUnHkZ lsok dh

(D) lkef;d tkx:drk lsok dh

38. flLVeSfVd bUMsfDlax dk ys[kd dkSu gS \

(A) ts- dslj

(B) okjfod lkW;j

(C) ,l-vkj- jaxukFku

(D) ts-bZ-,y-QSjkMus

39. MsYQh fof/k dk iz;ksx fdlesa gksrk gS \

(A) ;kstuk

(B) ctV

(C) iwokZuqeku

(D) ewY;kadu

40. lwpuk D;k gS \

(A) viDo MkVk

(B) fufo"V MkVk

(C) izØef.kr MkVk

(D) vlaxfBr MkVk

41. flLVeSfVd bUMsfDlax fdlds }kjk fodflr fd;k
x;k Fkk \

(A) bZ-ts- dksV~l

(B) ,p-ih- yqgu

(C) ts-bZ-,y- QSjkMus

(D) Msjsd vkfLVu
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42. Library Literature is a :

(A) List of Library Science Books

(B) Abstracts

(C) Indexing Periodicals

(D) Dictionary

43. Who used the word bibliography first ?

(A) Melvil Dewey

(B) Ranganathan

(C) Louis Jacob de Saint Charles

(D) Margaret Mann

44. Abstract are mainly of following two types :

(A) Common and Specific Abstract

(B) Local and Regional Abstract

(C) Book and Non-book Abstract

(D) Indicative and Informative Abstract

45. The concept of SDI is introduced by :

(A) S.R. Ranganathan

(B) H.P. Luhn

(C) Eugene Garfield

(D) Derek Austin

46. Which of the following is not an example of
CAS ?

(A) Selective Dissemination of Information

(B) Current Contents

(C) An Indexing Bulletin

(D) A Reading List

42. iqLrdky; lkfgR; gS %

(A) iqLrdky; foKku dh iqLrdksa dh lwph

(B) lkj

(C) vuqØef.kdk if=dk,a

(D) 'kCndks'k

43. xzUFklwph 'kCn dk iz;ksx loZizFke fdlus fd;k \

(A) esfYoy Msoh

(B) jaxukFku

(C) yqbZl tSdc Ms lsaV pkYlZ

(D) ekxZjsV eku

44. lkj eq[; :i ls fuEufyf[kr nks izdkj ds gksrs gS %

(A) lkekU; ,oa fof'k"V lkj

(B) LFkkuh; ,oa {ks=h; lkj

(C) iqLrd ,oa viqLrdh; lkj

(D) lkadsfrd ,oa lwpukRed lkj

45. ,l-Mh-vkbZ- dh vo/kkj.kk fdlds }kjk izLrqr dh
xbZ \

(A) ,l-vkj- jaxukFku

(B) ,p-ih- yqgu

(C) ;wthu xkjQhYM

(D) Msjsd vkfLVu

46. fuEufyf[kr esa ls dkSu lh-,-,l- dk mnkgj.k ugha
gS \

(A) p;ukRed lwpuk izlkj lsok

(B) lkef;d fo"k;

(C) vuqØef.kdk cqysfVu

(D) jhfMax lwph

[P.T.O.]
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47. AGRIS is sponsored by :

(A) ILO of UN

(B) ICAR

(C) FAO of UN

(D) UNESCO

48. The head quarters of NASSDOC is located
at :

(A) Lucknow

(B) Varanasi

(C) Delhi

(D) Kolkata

49. NISCAIR stands for :

(A) Nissat Communication and Information
Retrieval

(B) National Information System and
Computer Aided Information Retrieval

(C) National Institute and Science
Communication and Information
Resources

(D) None of the above

50. The User Profile is a :

(A) List of Descriptor

(B) List of User

(C) Statement on User Interest

(D) List of Useful Citation

47. ,fxzl }kjk izk;ksftr gS %

(A) ;w-,u- dk vkbZ-,y-vks-

(B) vkbZ-lh-,-vkj-

(C) ;w-,u- dk ,Q-,-vks-

(D) ;wusLdks

48. uklMkWd dk eq[;ky; dgk¡ ij fLFkr gS \

(A) y[kuÅ

(B) okjk.klh

(C) fnYyh

(D) dksydkrk

49. fuLdSj dk eryc gS %

(A) fulkr lapkj vksSj lwpuk iquizkZfIr

(B) jk"Vªh; lwpuk iz.kkyh ,oa dEI;wVj lgk;rk
izkIr lwpuk iquizkZfIr

(C) jk"Vªh; laLFkku vkSj foKku lapkj vkSj lwpuk
lalk/ku

(D) mijksDr esa ls dksbZ ugha

50. mi;ksDrk ikf'oZdk D;k gS \

(A) o.kZukRed inksa dh lwph

(B) mi;ksDrkvksa dh lwph

(C) mi;ksDrkvkas dh vko';drkvksa dk oDrO;

(D) mi;ksxh m)kj.kksa dh lwph
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51. What is the maximum read range of the RFID
module ?

(A) 2 cm

(B) 1 cm

(C) 10 cm

(D) 5 cm

52. The second generation of computer was
characterised by the use of :

(A) Transistor

(B) Chips

(C) Vacuum tubes

(D) IC

53. The Heart of Computer is :

(A) Input unit

(B) Output unit

(C) Memory

(D) CPU

54. Mouse can be used with :

(A) CDS / ISIS

(B) SOUL

(C) CDS / ISIS and SOUL both

(D) None of the above

55. The first commercial virus was :

(A) Happy birthday 30th

(B) Ramdrops

(C) Brain

(D) Yankee Doodle

51. vkj-,Q-vkbZ-Mh- ekWM;wy dh vf/kdre i<+us dh
lhek D;k gS \

(A) 2 lseh-

(B) 1 lseh-

(C) 10 lseh-

(D) 5 lseh-

52. f}rh; ih<+h dEI;wVj esa fdldk iz;ksx fd;k tkrk
gS \

(A) VªkaftLVlZ

(B) fpIl

(C) oSD;we V~;wc~l

(D) vkbZ-lh-

53. dEI;wVj dk g~n; fdls ekuk tk ldrk gS \

(A) buiqV ;wfuV

(B) vkmViqV ;wfuV

(C) eseksjh

(D) lh-ih-;w-

54. ekml ds lkFk iz;ksx fd;k tk ldrk gS %

(A) lh-Mh-,l-@vkbZ-,l-vkbZ-,l-

(B) lksy

(C) lh-Mh-,l@vkbZ-,l-vkbZ-,l- vkSj lksy nksuksa

(D) mijksDr esa ls dksbZ ugha

55. izFke O;kolkf;d okbjl Fkk %

(A) gSIih cFkZMs 30

(B) jkeMªksIl

(C) czsu

(D) ;kadh MwMy

[P.T.O.]

PAPER : VIII (Library and Information Technology : Theory) [BL-108N]



KNP/B.Lib.(254)-B/245   (  14  )

56. Following is not a social book marking
site :

(A) Digg

(B) Delicious

(C) Sqido

(D) Facebook

57. Identify the odd one from the following :

(A) KOHA

(B) VTLS

(C) SLIM++

(D) SOUL

58. Computer memory is measured in :

(A) Byte

(B) Kilobyte

(C) Megabyte

(D) All of the above

59. JPEG stands for :

(A) Joint Photographic Experts Group

(B) Joint Photogroup Explaining Group

(C) Joint Photostate Extending Group

(D) Joint Picture Expert Group

60. Pentium-4 is introduced by _____
corporation.

(A) Computer

(B) Advanced Computer

(C) Intel

(D) CMC ltd.

56. mijksDr esa dkSu&lk lks'ky cqdekfdZax lkbV ugha
gS \

(A) fMx

(B) fMyhf'k;l

(C) LDohMw

(D) Qslcqd

57. fuEufyf[kr esa ls fo"ke dks igpkfu, %

(A) dksgk

(B) oh-Vh-,y-,l-

(C) fLye$$

(D) lksy

58. dEI;wVj dh eseksjh ds ekiu gsrq fdl bdkbZ dk
iz;ksx fd;k tkrk gS \

(A) ckbV

(B) fdyksckbV

(C) esxkckbV

(D) mijksDr lHkh

59. ts-ih-bZ-th- dk vFkZ gS %

(A) la;qDr QksVksxzkfQd fo'ks"kK lewg

(B) la;qDr QksVkslewg O;k[;k lewg

(C) la;qDr QksVksLVsV foLrkj lewg

(D) la;qDr fp= fo'ks"kK lewg

60. isafV;e&4------ }kjk fodflr fd;k x;k gSA

(A) dEI;wVj

(B) ,Mokal dEI;wVj

(C) bUVsy

(D) lh-,e-lh- fyfeVsM
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61. CHECKMATE software package is used
for :

(A) Acquisition

(B) Information storage

(C) Serial control

(D) Circulation

62. Sanjay Software for libraries is devised
by :

(A) INSDOC

(B) NASSDOC

(C) UNESCO

(D) DESIDOC

63. Following is not a web 2.0 tool :

(A) Blog

(B) Facebook

(C) Infonet 2.0-UGC

(D) RSS feed

64. Following is an example of microblogging :

(A) Word press

(B) Blog spot

(C) Live journal

(D) Twitter

65. What is a bug ?

(A) Computer virus

(B) Error in computer configuration

(C) Error in a programme

(D) None of these

61. pSdesV lkW¶Vos;j dk iz;ksx fdlds fy, gS \

(A) vf/kxzg.k

(B) lwpuk Hk.Mkj.k

(C) lkef;dh fu;U=.k

(D) ifjpkyu

62. iqLrdky;ksa ds fy, lat; lkW¶Vos;j fdlds }kjk
rS;kj fd;k x;k gS \

(A) bUlMkWd

(B) uklMkWd

(C) ;wusLdks

(D) MslhMkWd

63. mi;qZDr esa dkSu osc 2.0 Vwy ugha gS \

(A) CykWx

(B) Qslcqd

(C) buQksusV 2.0&;w-th-lh-

(D) vkj-,u- ,l- QhM

64. mi;qZDr esa dkSu&Lkk ekbØksCykWfxax dk mnkgj.k gS \

(A) oMZ izsl

(B) CykWx LikWV

(C) ykbo tuZy

(D) fV~oVj

65. cx dk D;k rkRi;Z gS \

(A) dEI;wVj okbjl

(B) dEI;wVj foU;kl

(C) izksxzkfeax esa =qfV

(D) mijksDr esa ls dksbZ ugha
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66. Flow charts and Algorithms are used for

(A) Better Programming

(B) Easy testing and Debugging

(C) Efficient coding

(D) All of the above

67. An Algorithm represented in the form
programming languages is :

(A) Flow chart

(B) Pseudo code

(C) Program

(D) None of these

68. A flow chart that outlines the main segments
of program is called as :

(A) Micro flowchart

(B) Macro flowchart

(C) Flow chart

(D) Decision

69. Which of the following symbols in a flowchart
are used to indicate all arithmetic processes
of adding, subtracting, multiplying and
dividing ?

(A) Input / output

(B) Terminal

(C) Processing

(D) Decision

70. What is the use of the RFID Module ?

(A) Object Identification

(B) To Provide 3G connectivity

(C) To measure temperature

(D) To measure wi-fi strength

66. ¶ykspkVZ vkSj ,Yxksfjn~e dk mi;ksx fd;k tkrk gS %

(A) csgrj izksxzkfeax esas

(B) vklku ijh{k.k vkSj fMcfxax esa

(C) dq'ky dksfMax esa

(D) mijksDr lHkh

67. izksxzkfeax Hkk"kkvksa esa izfrfuf/kRo fd;k tkus okyk ,d
,Yxksfjn~e gS %

(A) ¶ykspkVZ

(B) nq+| dksM

(C) izksxzke

(D) buesa ls dksbZ ugha

68. ¶ykspkVZ tks dk;ZØe ds eq[; [k.Mksa dks js[kkafdr
djrk gS] dgykrk gS %

(A) ekbØks¶ykspkVZ

(B) eSØks¶ykspkVZ

(C) ¶ykspkVZ

(D) fu.kZ;

69. fuEufyf[kr esa ls dkSu&lk izrhd ¶ykspkVZ dk
mi;ksx tksM+us] ?kVkus] xq.kk djus vkSj foHkkftr
djus dh lHkh vadxf.krh; izfØ;kvksa dks bafxr
djus ds fy, fd;k tkrk gS \

(A) buiqV@vkmViqV

(B) VfeZuy

(C) izkslsflax

(D) fMfltu

70. vkj-,Q-vkbZ-Mh- ekWM;wy dk mi;ksx D;k gS \

(A) oLrq dh igpku

(B) 3th dusfDVfoVh iznku djus gsrq

(C) rkieku ekius ds fy,

(D) okbZ&QkbZ dh {kerk ekius ds fy,
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71. The major components of Information
Technology are :

(A) Computer technology

(B) Communication technology

(C) Reprographic and Micrographic
technology

(D) All of the above

72. What is Abacus ?

(A) First generation computer

(B) Second generation computer

(C) An ancient device for simple calculations

(D) Hardware

73. Physical components of the computers are
called as :

(A) Software

(B) Hardware

(C) Human ware

(D) None of these

74. The concept of artificial intelligence is related
with :

(A) First generation computers

(B) Second generation computers

(C) Fourth generation computers

(D) Fifth generation computers

75. What is the most popular language of the
computer ?

(A) Machine language

(B) Assembly language

(C) High level language

(D) Low level language

71. lwpuk izkS|ksfxdh ds izeq[k ?kVd dkSu&ls gS \

(A) dEI;wVj izkS|ksfxdh

(B) lapkj izkS|ksfxdh

(C) izfrfyfidj.k ,oa lw{ehdj.k izkS|ksfxdh

(D) mijksDr lHkh

72. vcsdl D;k gS \

(A) izFke ih<+h dEI;wVj

(B) f}rh; ih<+h dEI;wVj

(C) lk/kkj.k x.kuk ds fy, iz;qDr izkphu midj.k

(D) gkMZos;j

73. dEI;wVj ds HkSfrd la?kVdksa dks D;k dgrs gS \

(A) lkW¶Vos;j

(B) gkMZos;j

(C) º;weu os;j

(D) buesa ls dksbZ ugha

74. Ñf=e izKk dh /kkj.kk fdlls lkFk lEcfU/kr
gS \

(A) izFke ih<+h dEI;wVj

(B) f}rh; ih<+h dEI;wVj

(C) prqFkZ ih<+h dEI;wVj

(D) iape ih<+h dEI;wVj

75. dEI;wVj ds vUrxZr lcls vf/kd iz;ksx dh tkus
okyh Hkk"kk dkSu&lh gS \

(A) ;kaf=d Hkk"kk

(B) dksMkarfjr Hkk"kk

(C) mPp Lrjh; Hkk"kk

(D) fuEu Lrjh; Hkk"kk
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76. LAN means :

(A) Library Area Network

(B) Local Area Network

(C) Library Automation Network

(D) None of the above

77. MS-DOS is a :

(A) Multi-user operating system

(B) Time sharing operating system

(C) Single user operating system

(D) None of the above

78. UNIX is developed by :

(A) Blaise Pascal

(B) Ken Thompson and Dennis Ritchie

(C) AT & T

(D) Stephen R. Bourne

79. Operating system is a :

(A) Application software

(B) System software

(C) Hardware

(D) Language

80. In computer technology a computer
means :

(A) A person who compiles source program

(B) The same thing as a program

(C) Key punch operator

(D) A program into object program

76. ysu dk iwjk uke D;k gS \

(A) ykbczsjh ,sfj;k usVodZ

(B) yksdy ,sfj;k usVodZ

(C) ykbczsjh vkVkses'ku usVodZ

(D) mijksDr esa ls dksbZ ugha

77. ,e- ,l-&MkWl gS %

(A) cgq&mi;ksxdrkZ vkWijsfVax flLVe

(B) Vkbe 'ks;fjax vkWijsfVax flLVe

(C) ,dy vkWijsfVax flLVe

(D) mijksDr ls dksbZ ugha

78. ;wfuDl fdlds }kjk fodflr fd;k x;k gS \

(A) Cyst ikLdy

(B) dsu FkkWEilu ,.M Msful fjph

(C) ,-Vh- ,.M Vh-

(D) LVhQu vkj- ckWuZ

79. vkWijsfVax flLVe gS %

(A) iz;qfDr lkW¶Vos;j

(B) flLVe lkW¶Vos;j

(C) gkMZos;j

(D) Hkk"kk

80. dEI;wVj izkS|ksfxdh esa dEI;wVj dk vFkZ gS %

(A) ,d O;fDr tks lkslZ izksxzke ladfyr djrk
gS

(B) izksxzke ds :i esa dqN Hkh

(C) dqath iap vkWijsVj

(D) vkWCtsDV izksxzke esa ,d izksxzke
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81. Optical fibers consist of thin  strands of :

(A) Iron like material

(B) Glass like material

(C) Plastic like material

(D) None of the above

82. The tree topology is a modified  form of :

(A) Internet topology

(B) Bus topology

(C) Ring topology

(D) None of the above

83. Internet is a :

(A) MAN

(B) Government Network

(C) Commercial Network only

(D) Globalisation of Network

84. Linux was developed by :

(A) Linus Torvalds

(B) Linus Grolier

(C) Linus Gosling

(D) Peter Deslema

85. SOUL is introduced by :

(A) CMC Ltd.

(B) INFLIBNET

(C) NICNET

(D) OCLC

81. izdkf'kd rUrq irys /kkxksa ls feydj cus gksrs gS %

(A) yksgs tSlh lkexzh ds

(B) dk¡p tSlh lkexzh ds

(C) IykfLVd tSlh lkexzh ds

(D) mijksDr esa ls dksbZ ugha

82. Vªh VkWiksykWth la'kksf/kr :i gS %

(A) b.VjusV VkWiksykWth dk

(B) cl VkWiksykWth dk

(C) fjax VkWiksykWth dk

(D) mijksDr esa ls dksbZ ugha

83. b.VjusV gS %

(A) ,e-,-,u-

(B) ljdkjh usVodZ

(C) dsoy okf.kfT;d usVodZ

(D) usVodZ dk oS'ohdj.k

84. ykbuDl fdlds }kjk fodflr fd;k x;k \

(A) fyuql VksjokYMl

(B) fyuql xzksfy;j

(C) fyuql xksfLyax

(D) ihVj MsLysek

85. lksy fdlds }kjk izLrkfor fd;k x;k gS \

(A) lh-,e-lh- fyfeVsM

(B) buf¶ycusV

(C) fudusV

(D) vks-lh-,y-lh-
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86. Computer virus can  :

(A) Replicates itself

(B) Damage computer

(C) Manipulate data

(D) All of the above

87. Password security involves :

(A) Identification

(B) Authentication

(C) Authorisation

(D) All of the above

88. The headquarter of NIC is situated at :

(A) Bangalore

(B) New Delhi

(C) Hyderabad

(D) Kolkata

89. A MAN has :

(A) Four cables

(B) Three cables

(C) One or two cables

(D) Ten cables

90. Transmission lines also called :

(A) Register, channels or trunks

(B) Circuits, channels or trunks

(C) Memory, channels or trunks

(D) Circuits, channels or registers

86. dEI;wVj ok;jl dj ldrs gS %

(A) Lo;a dh izfrÑfr dj ldrk gS

(B) dEI;wVj dks gkfu igq¡pk ldrk gS

(C) MkVk dk izdyu dj ldrk gS

(D) mijksDr lHkh

87. ikloMZ lqj{kk esa 'kkfey gS %

(A) igpku

(B) izek.khdj.k

(C) izkf/kdj.k

(D) mijksDr lHkh

88. ,u-vkbZ-lh- dk eq[;ky; dgk¡ fLFkr gS \

(A) caSxyksj

(B) ubZ fnYyh

(C) gSnjkckn

(D) dksydkrk

89. ,e-,-,u- esa eq[;rk fdrus dscy gksrs gS \

(A) pkj dscy

(B) rhu dscy

(C) ,d ;k nks dscy

(D) nl dscy

90. Vªkalfe'ku ykbuksa dks Hkh dgk tkrk gS %

(A) jftLVj] pSuy ;k Vªad

(B) lfdZV] pSuy ;k Vaªd

(C) eseksjh] pSuy ;k Vªad

(D) lfdZV] pSuy ;k jftLVj
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91. UNIX is an :

(A) Hardware

(B) Software

(C) Operating system

(D) High  level language

92. The most common input device is :

(A) Punched card

(B) Keyboard

(C) Scanner

(D) Voice input

93. What is Modem ?

(A) Images of digital data

(B) Graphic data

(C) Sound  signals to digital data

(D) A device to convert digital information
to analog information

94. LIBSYS is software for automation of :

(A) Library activities

(B) Industrial activities

(C) Hospital  activities

(D) None of the above

95. Bar-code labels are used in the :

(A) Acquisition system

(B) Circulation system

(C) Cataloguing system

(D) Serial control system

91. ;wfuDl D;k gS \

(A) gkMZos;j

(B) lkW¶Vos;j

(C) vkijsfVax flLVe

(D) mPp Lrjh; Hkk"kk

92. lcls vf/kd iz;ksx gksus okyh fuos'k ;qfDr dkSu&lh
gS \

(A) iap dkMZ

(B) dh&cksMZ

(C) LdSuj

(D) /ofu fuos'k

93. eksMe D;k gS \

(A) fMftVy MkVk dk fp=

(B) xzkfQd MkVk

(C) /ofu ladsrksa ls fMftVy MkVk

(D) fMftVy lwpuk dks ,ukykWx lwpuk esa cnyus
dh fof/k

94. fycfll lkW¶Vos;j fdlds vkVkses'ku ds fy,
gS \

(A) iqLrdky; fØ;kdykiksa

(B) vkS|ksfxd fØ;kdykiksa

(C) gkWfLiVy ls lEcfU/kr fØ;kdykiksa

(D) buesa ls dksbZ ugha

95. ckj&dksM yscy fdlesa mi;ksx gksrk gS \

(A) vf/kxzg.k iz.kkyh

(B) ifjpkyu iz.kkyh

(C) lwphdj.k iz.kkyh

(D) lkef;dh fu;U=.k iz.kkyh

[P.T.O.]
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96. HTTP stands for :

(A) Hyper Text Transfer Protocol

(B) Hyper Text Transmission Protocol

(C) Hyper Text Termination Protocol

(D) Hyper Text Transmission Program

97. Which of the following is a search engine ?

(A) Google

(B) Excite

(C) Infoseek

(D) All of the above

98. URL stands for :

(A) Universal Resource Locator

(B) Uniform Resource Locator

(C) Uniform Record Locator

(D) Universal Record Locator

99. FAQ stands for :

(A) Frequantly Asked Question

(B) Frequantly Answered Question

(C) Frequantly Added Question

(D) Frequantly Advised Question

100. Internet Explorer is a :

(A) Server Software

(B) Client Software

(C) Translater Software

(D) All of the above

96. ,p-Vh-Vh-ih- dk vFkZ gS %

(A) gkbij VsDLV VªkalQj izksVksdkWy

(B) gkbij VsDLV Vªkalfe'ku izksVksdkWy

(C) gkbij VsDLV VfeZus'ku izksVksdkWy

(D) gkbij VsDLV Vªkalfe'ku izksxzke

97. [kkst batu buesa ls dkSu&lk gS \

(A) xwxy

(B) ,DlkbV

(C) bUQkslhd

(D) mijksDr lHkh

98. ;w-vkj-,y- dk vFkZ gS %

(A) lkoZHkkSfed lalk/ku yksdsVj

(B) ;wfuQkWeZ lalk/ku yksdsVj

(C) ;wfuQkWeZ fjdkWMZ yksdsVj

(D) lkoZHkkSfed fjdkWMZ yksdsVj

99. ,Q-,-D;w- dk D;k vFkZ gS \

(A) vDlj iwNs tkus okys iz'u

(B) vDlj mÙkj fn;s tkus okys iz'u

(C) vDlj tksM+k x;k iz'u

(D) vDlj lykg nsus okys iz'u

100. b.VjusV ,DlIyksjj ,d ------gSA

(A) loZj lkW¶Vos;j

(B) DykbaV lkW¶Vos;j

(C) vuqoknd lkW¶Vos;j

(D) mijksDr lHkh
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mnkgj.k %

iz'u %

iz'u 1

iz'u 2

iz'u 3

;fn fdlh ijh{kkFkhZ }kjk izR;sd [k.M gsrq fu/kkZfjr iz'uksa
ls vf/kd iz'uksa ds mÙkj fn;s tkrs gSa] rks mlds }kjk
gy fd;s x;s izFker% ;Fkk fufnZ"V iz'uksÙkjksa dk gh
ewY;kadu fd;k tk;sxkA

4. izR;sd iz'u ds vad leku gSaA vkids ftrus mÙkj
lgh gksaxs] mUgha ds vuqlkj vad iznku fd;s tk;saxsA

5. lHkh mÙkj dsoy vks0,e0vkj0 mÙkj&i=d
(OMR Answer Sheet) ij gh fn;s tkus gSaA
mÙkj&i=d esa fu/kkZfjr LFkku ds vykok vU;=
dgha ij fn;k x;k mÙkj ekU; ugha gksxkA

6. vks0,e0vkj0 mÙkj&i=d (OMR Answer

Sheet) ij dqN Hkh fy[kus ls iwoZ mlesa fn;s x;s
lHkh vuqns'kksa dks lko/kkuhiwoZd i<+ fy;k tk;sA

7. ijh{kk lekfIr ds mijkUr ijh{kkFkhZ d{k fujh{kd
dks viuh iz'uiqfLrdk cqdysV ,oa vks0,e0vkj0
'khV i`Fkd&i`Fkd miyC/k djkus ds ckn gh ijh{kk
d{k ls izLFkku djsaA

8. fuxsfVo ekfdZax ugha gSA
9. dksbZ Hkh jQ dk;Z] iz'u&iqfLrdk esa] jQ&dk;Z ds

fy, fn, [kkyh ist ij gh fd;k tkuk pkfg,A
10. ijh{kk&d{k esa ykWx&cqd] dSYdqysVj] istj rFkk lsY;qyj

Qksu ys tkuk rFkk mldk mi;ksx djuk oftZr gSA

11. iz'u ds fgUnh ,oa vaxzsth :ikUrj.k esa fHkUurk gksus

dh n'kk esa iz'u dk vaxzsth :ikUrj.k gh ekU;

gksxkA

egRoiw.kZ% iz'uiqfLrdk [kksyus ij izFker% tk¡p dj
ns[k ysa fd iz'uiqfLrdk ds lHkh i`"B HkyhHkk¡fr Nis
g q, gS aA ;fn iz'uiqfLrdk es a dk sb Z deh gk s ] rk s
d{kfujh{kd dk s fn[kkdj mlh fljht dh nwljh
iz'uiqfLrdk izkIr dj ysaA
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